
Match-Up Finding Determinants 
 

1 Find det (
5 −2
3 1

)  2 Find det (
7 4
2 −1

) 

3 Find det (
3 −1 4
1 2 −1
5 0 4

)  4 Find det (
1 6 −3
0 3 4
1 −2 −1

) 

5 
Given det (

6 −5
7 𝑎

) = 5 

Find 𝑎 

 6 
Given det (

𝑏 5
2𝑏 9

) = 8 

Find 𝑏 

7 

Given that  

det (
4 𝑐 −2
0 3 1
−1 2 −4

) = −34 

Find 𝑐 

 8 

Given that  

det (
5 2𝑑 1
2 1 −1
0 𝑑 3

) = −10 

Find 𝑑 

9 
𝐀 = (

5 −2
−4 𝑓

) 

Given that 𝐀 is singular, 

find the value of 𝑓. 

 10 

𝐁 = (
4 −𝑔
2 7

) 

Given that 𝐁 is singular,  

find the value of 𝑔. 

11 

𝐂 = (
−4 3 𝑝
1 0 −1
−1 2 5

) 

Given that 𝐂 is singular, 

find the value of 𝑝. 

 12 

𝐃 = (
3𝑞 𝑞 −2
−4 2 0
6 5 −1

) 

Given that 𝐃 is singular,  

find the value of 𝑞. 
     

A −28  D −7  G 11  J 1.6 

B −15  E 4  H 10  K −8 

C 5  F −5  I 38  L −14 
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